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NMINAN NVIPNAN DY INNNN NITINND DINH NN X8 . |

1) f(x):4+lx2 2) f(x)=3+v1-x*  3) f(x)=v2x+1 4) f(x)=log(x-1)

5) f(x)=+/sinx+8 6) f(x)=3cos” x 7) f(x)=+/sinx 8) f(x)=5+tanx

;029090 Nno |

-1, x<0
.sgnx=4 0, x=0 29N9T0 NATMN sgnx NpNnon .l
1, x>0
JAX|=x-sgnx 0 ANAN LN PNNN 97 IX M2

Ix]=n>an ,0<r<ineZ Awx> X=n+r ox :1909T3 NI [x] o¥pnan .2
S y=x=[x], y=[x] :nv¥pna vy 0299 N X YV DHVD PYHND NIPY Y =[X]

.f(x):i—i TUND % f(a X)) +1 ,f(x+2) ,f(-=x) ,f(0) nxawn .3

.NADMNN NPXPND

NYND MAOINN SV DNIATIND PNIND NN XNNY  NINAN NYIPNOSN DX 209N . 11
(F)=f(g())=? G(X)=g(f(x)=?)

) f(x)=x% g(x) =/x 2) f(x)=1-x; g(x) = x?

3) f(x)=a*;g(x)=log, x, a>0,a=1 4)f(x)=x%g(x)=2"

W F(X)=f(g(x))) mvIva nyspNad mINAN NYEPNS MIAdIN PIVO
H(FO) = f(g(h(x)))
BF(x)=log,(x+3)  B)F(x)=sinVx2+1 7)Fx)=2"%  8)F(x)=log(x*—4)

wnd ylo(X)], ely(X)], wly ()], ele(x)] nxawn . 9

) 0,x<0 ) 0,x<0
X) = , X) = .
¢ X, X >0 v —x2, x>0
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1) D, ={x|-0 < x<+} image(f)=(0,0.25]

2) D, =[-11] image(f)=[34]

3) D; =[-0.5,+0) image(f)=[0,+x)

4) D, =(1,+o0) image(f) = (—o0,+x)

5) D, = (—0,+0) image(f)=[7,3]

6) D, = (—o0,+0) image(f)=[0,3]

7) D, ={x|27k <x<(2k+1), k=0,£1,£2,..} image(f)=[0,1]

8) D, ={x| x;t%wzk, k=0,+1%2,..} image(f)=(~o,+o)
I

3. f0)=1 f0=iX fxen=—X,
1-x 2+X
I E TeYee
f(x) 1-x X) x+1 1+ X
Il
1) G(X) =|X|! DG :(_OOIOO), F(X) =X DF :[0,00)
2)2)G(X)=(1-X)* Dg = (~oo,), F(X)=1-x> D, =(~o0,)

3G(X)=x Dg =(—0,»), F(xX)=x Dg =(0,)
HG(X)=2" Dg=(-o,0), F(X)=2* D, =(o0,)

5f(x)=Ilgx g(x)=x+3
6)f(x)=sinx g(x)=+vx h(x)=x%+1
Nix=2" g(x)=+x
8)f(x)=logx g(x)=x"-4

9) ple(¥)]= (%), wly(X]=ely(x)]=0, wlp(X)]=w(X)



	פונקציה מורכבת.

